4-3 PREEMEERER S - BRSBTSt R T

A
W

PREEEEERS - S ZRGIUBOSETR

(1) KFAEZE VR EHER
t: (REACOBFRE,  ufrba A
(494 = ((REE(EE A 42)0.T5 t<u
Q) KFAFPLEHERITL
to REICOBAERE,  ufRhRIR
(494 = (R EE (B A 4)o0.75 T <U
(3) KIBAHECIHRERGHIL
t: (REAOBIERE,  uiRiRIR
(R4 )= (R BB (A 42)0.75
(4)  TIEANEERTRE R
t: PREALOBFRE,  ufrba A
(BRI — (R BB 5 42)0.75
(6) KIFLAEE A EL B HE R
(%)= (R E A S)x075  t<n
(4% )= (BB ), n<t<m
to CREAGBIERE 0 R m (R
(6) KIABKBEEDIRE
(44— (R E R S)x075  t<n
(R4 )= (PR (E B ) t=n
to (REAOBAERE | n B = (R
(1) KIS EREE RIS

(4= (B R (REREEEEH )07 <D




()= (B Z IREE E ELE R ) t=n

t: PREAKOBEETE | n Sl

Al R NE R BB ERUR R - SR S -
(8) AKFEANFEAAEEE IR R

(4% )= (FREEE )05 <D

(R4 )= (PR ) t=n
to (REACOIAERE | n @ G AR
(9 FIBANEEEE T IR
(L)) — (W) 2 (R M S)x075 1<
(44— (MR B 53 2 (TR (et 42 t=n
to (REAOBAERE | n @ R AR
Al B S R R B IR - U R AR 4 -
(10) KFEAE =5 ANELETTRIREE AL 5 e
(L)%= (R E R )05 <N
(R4 )= (PR (E S ) n<t<m
to CREAGBIERE 0 R m (R
(1) EFABEEEELS R
(LIS = (R E R E)x0.75 <N
(4% )= (T EE ), n<t<m
o CRBIAGIBIERE 0 R m (R
(12) FFP A S5 R R AR 5
(LI 4 = (R E R E)x0.75 <N
(R4 )= (PR EE (E B () n<t<m

2




(13)

(14)

(15)

(16)

(17)

(18)

REFERAES - RIS 2GR E
te PREAKOBEERE | n SR , m: (RIEHE

RN B RS E RS

(494 = (IR B E R S)x075 T<N
(R4 )= (PR ) t=n

to (REIAGIAERE | n @ AR

JH N BRI L R b

(RLI4) = (IR E RS0 t<n
(4% )= (FRELE ) t=n
to (REAGIAERE | n @ e =R
JHR N AR AR 5 (R
(L)%= (R A )07 <N
(4% )= (FRELEE ) n<t<m
t (RERCGEERE | n  GUERAENT  m (R
AR NER AR T RE R
(L)%= (R A 420075 <N
(4% )= (FRELEE ) t=n
t: (RERCGEERE | n SN, m ¢ (R
RIS T AR R

(L)%= (REEEERE a5 t<n
(4% )= (FRELEE ) t=n
t: (RERACIBARRE | n ¢ BRI
RHRNESFE NEETREE L 5
(BRI 42— (R EEE A (4 42)0.75 t<n




(RESE RS RS Rt R R

(4= (PR BB B 4)x(0.75+(tn) < 0.05)  N<t=<10
(W) )= (R BB A 10<t<m
t: (RERCGBERE 0 BN m ¢ (R

(19) KIBAEWHENEEEBELALS RS
(L4 = (R E A E)x0.75  t<n
(W) = (R L (e s n<t<m
t: (RERGGELERE | n BB m (R

(20) AFPAFELLIE 699 T FIREBERIBALL G (LR
(R4 = (BB (2 5 42)0.75 t<n
(W) = (R BB [  ( 42)(0.75+(tn) X 0.05)  N<t=<10
(4% )= (BB ) 10<t=m
to (REAOBIERS | n SR m o (R

(21) S AFHEA] High FISREES) IR 55k
(%)= (IR E A S)x075  t<n
(4% )= (BB ), n<t<m
t (RERAGEERE | n SRR, m ¢ (R

(22) A FBAFE 5599 IBALKL S {7
(94— (R E R S)x075  t<n
(4% )= (T EE ), n<t<m
t: (RERAGEERE | n SRR, m ¢ (R

(23) AFB AR IREEBHD R R
(44— (R E R S)x075  t<n
(4= (e B ), n<t<m




REFERAES - RIS 2GR E
to PREAKOBEERE | n : G, m: (RIEHE

(24) RFBNBRUEEES R
(94— (IR E S0 t<n
(44 )= (FRELE ) n<t<m
o (REIAOIBAERE | n 1 GUERAER | m o (R
(25) KIS EE G Ft i R
(LI 4) = (R E S5 t<n
(44 )= (FRELE ) n<t<m
o (REIACOIBAERE | n 1 GUERAER | m (R
(26) KFLAFEAE 99 ETTAIREHRIBAL 5 (1R
(fRgye)r= (IREEEAEHS)X0.75  t<Min(n,15)
(eI — (B e ) Min(n,15) <t <m
t: REAGBAERE |0 GERENT |, m (R
(27) KFAEFIRALEETTRIREE R B
(L)%= (R A )07 <N
(4% )= (FRELEE ) n<t<m
o (REAOBAERE | n ¢ GUERAER | m o (R
(28) AFBAFBE L THEE UL R
(L)%= (R A )07 <D
(R4 )= (PR () t=n
t: (RERACIBARRE | n ¢ BRI




PREEME(EER G - AR Z RIS R
(29) KFBANFEAIE NEFTTARES UL S FH R

(= (PRELEEREHFH)0T9  t=1

(fpsye) = (PRE(EEZER2)x080  t=2

(&)= (PRE(EEAERE)=081  t=3

(fesye) = (PRE(EEZER)x082  t=4

()= (PREEEXEH$)x0.83  t=5

(s = (PRE(EEZERS)>0.99  t=6

(A= (TREE(E (e ) n<t<m

t: PREEGEFRE ,n o GEFRT , m o CRIEEAR]

(30) KFANFZEmAREHNTE IR (F)

(—) e RAEHAR
e = FH RIS Z e R BB (B - sV E Y]
fiRe s ] = BB R4 2 A< R B (B R (R B I

FRAE A

PREEFE() B
1 4.00%
2 2.50%
3 2.00%
4 1.50%
5 1.00%
6 1.00%

BT EKAE 0%

() Feia TR SRRy -




(32

(31) EHANSHEASTHRES L S Fhe
6 SEAE -
()= (IRELEEREFHR)0TS  t=1

(&)= (PRE(EEAREF )07 t=2
(fRde) = (RE(EEEMHE)X0.75  t=3
()= (RE(EEREFES)X0.75  t=4
(fR&e) = (RE(EEAEMFE)X0.75  t=5
(&)= (PRE(EE R )=0.99  t=6

(R4 )= (TREEEEXE i ) n<t<m
12 FE8E
(&< = (PR EEE (B A <)i<0.82 t=1

(BB

&
Eh= (PREEEREFE)x084 1=2
(B2
&
&

(PREEEE EHE)x086  t=3
(FRES(E{EEM5E)x088  t=4

(B
(B2
(e

(PREEEEREFE)x090  t=5
(Pr B (B {E 15 <)ix0.94 t=6

()= (PREL(EEEHE)=096  t=7

(s = (PREL(HEAEF£)x099  8<t<1l

(B <) = (PREE(E (EL B (A <22, n<t<m

t: PREFECEEERE | n : SR |, m: prIEHAR
) KFNFHE NEFTTHREF R S =

12 FEgE

(= (PRE(EEREHFHR)x075  1<t<2

7




()= (PREE(E (R H2)x080  3<t<4

(&)= (PREL(EEXEF )08  5<t<6
(s = (PREE(E (B H2)x090  7<t<8
(A= (PREEEREMAE)x0.95  9<t<10
()= (PREL(EEXEH2)x099  t=11
(B = (PREL(E E <) nst<m
20 4
()= (PREL(EEXER =075 1<t<1l
(&= (PREE(E (B EHE)x090  t=12
()= (PREL(HEXEHEE)x099  13<t<19
(B )= (PREE(E (E B (<) n<t<m
t: PREFECEERE | n: SIERAEI , m: prIEHAR

(33) EFAFZEMAEEERRE
(%)= (R IS0 t<n
(R4 )= (PREE(EE ) nst<m
t: (RERCCBAERE 0t GUEAERT  m o CRRR

(34) EHNERIADE R R BRI S E
6 L

(R4 )= (PREA(E (E B fi 2)x0.75 t=1
(fR&yE) = ((REEEEHFS)K.TS t1=2
(&)= (TREE(E (E B fi<2)x0.75 t=3

8




()= (PRE(EEREA)x0.75 t=4

()= (PREL(EEREFH )07 t=5

()= (PRE(EEREA )09 t=6

(i) = (PREAE (E R A <) n<t<m
to PREAKOBEERE | n: BN, m: (RIEHE

(35) AFAFEZIRAAREFH ALK S ORln
(FEdyse) = (PRE(EERE M E)x0.75 t<n
()= (PREE(E (R HE)x080  t=4
(A= (PRE(EEREHAE)x0.90  t=5
()= (PREE(E (R H2)x099  t=6
(B = (PREE(E (E R <) 7<t<m

t: PREBEGEETE |t BB , m OGRS




